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23

23
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Csv

1)

23
Csv
23
Csv
24
Csv
24

24



2)

3)
2+ )

b.c.d.

b.c.d.

) 2+ )

) ™)

137

d.
25 12
a b. C
d e. f
C
5
2 6
3
84
a. 2 b. 1 d.
81 a.
9 10.7% b. 10
11.9% 1
8 9.3%
1 1.2%
21
22 c. 9 d. 5
3 24

10



2+ ) (1+) 19
6 3-1
b. 5 26.3%
1 C. 4 21.1% d.
4 21.1% f. 5 26.3%
2
a. 1 f
1 + 91
2 2 b.
110 a. 41 b. 3-2
60 d. 9 2 89 c 8 8.8%
a. 22 b. d 8 8.8% f. 65
41 58 52.7% * 71.4%
" C. 8
22 20.0% d. 15
13.6% e. 2 f. 13 11.8%
9 7
3 4
3 4 23
10 1 6
6
2,612 4-1
2,170
15
f. 21 3 4
1 6
280
201
1 6
126
64
f.
1 6
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2+ ) (1+)



1,743 4-2
1,368
27
16 1 6
3
181
107
3
181
125
3 4
1 6
5 B C
5 B
C

g.
a. f
3 4
62
3
6-1 b.
44 67.7% C.
41 63.1% d.
7 10.8% a.
1
48
3 4
6-2
b. 32
66.7% C.
15 31.3% d.
1 2.1% a.
6 12.5%
1 6
18
5
6-3 b.
18 78.3% c.
6 26.1% d.
2 8.7%% a.
1
34
2 6-4
b. 23 63.9%
c 10
27.8% d. 4
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11.1% a.

10 27.8%
3 4
9 1 6
4
7
6 3 4
1 6
4.7% 10.6%
83.4%

8-1

=2C)+ (A+zZ(B)+ 2
(C)+x (D)) x 100 (%)
=Z(B)+Z (D)) +(A+ZX
(B)+ 2 (C)+ 2 (D)) x 100 (%)
=A+ (A+Z(B)+ZzZ(C)+
> (D)) x 100 (%)

1 6 3
10.3%
8.6%
78.7% 8-2
9
C
B
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17

30

22

35.7%

1:- 2:+

3+ 4:2+

84

141

52.7%

32
42,294
6.9%

21.1%

13

5

1)

20.0%

19
26.3%

91

3,232

C.

24

2,931
7.6%

1+

I+



I+

4,996 11.8%

23 3 4
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3 4
6 125% 1 6
10 27.8%
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2012 116(1) 97-102
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21 22
a. b.
a. 2 1
b. 1 1
c. 0
d. 81 7 10 9 1 7 15
84 9 10 9 1 7 15
100.0% 10.7% 11.9% 10.7% 1.2% 8.3% 17.9%
C. d. f.
a. 1
b. 1
C. 0
d. 81 8 5 3 24
84 9 5 3 24
100.0% 10.7% 6.0% 3.6% | 28.6%
a. b. C.
a. 41 28 13 20 10
b. 60 28 7 21 12
c. 0
d. 9 2 2
110 58 22 41 22
100.0% | 52.7% 20.0% 37.3% 20.0%
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e. f.
a. 41 1 1 1
b. 60 9 1 10
c. 0
d. 9 5 2
110 15 2 13
100.0% 13.6% 1.8% 11.8%
3. 3
3-1 2+ ) (1+) 2+ ) 1+
2+ ) 2+ ) 1+ (*) () ()
(1+) e e 2+ 2+ 1+
1 8 1 2 6 19
a. o c. d.
e. f.
a. 6 0 0 0 4 0 2
b. 13 0 5 4 0 1 3
. 0
d. 0
19 0 5 4 4 1 5
100.0% 0.0% | 26.3%| 21.1%| 21.1% 53% | 26.3%
3-2 +
b.
a. C. d.
e. f.
a. 2 0 2 0 0 0 0
b. 0
C. 0
d. 89 0 0 8 8 8 65
91 0 2 8 8 8 65
100.0% 0.0% 2.2% 8.8% 8.8% 88% | 71.4%
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4-1. 3 4
6
3 4
2,170 201 62 3 2,436
64 15 11 0 90
48 14 21 3 86
2,282 230 94 6 2,612
4-2. 1 6
3
1
1,368 107 18 5 1,498
125 27 11 3 166
34 20 16 7 77
2 0 0 0 2
1,529 154 45 15 1,743
A B
C D
C C
C C
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6-1 4
65 1 44 41 7 5 3
100.0% 1.5% 67.7% 63.1% 10.8% 7.7% 4.6%
6-2 4
a.
48 6 32 15 1 4 3
100.0% 12.5% 66.7% 31.3% 2.1% 8.3% 6.3%
6-3. 6
23 1 18 6 2 2 0
100.0% 4.3% 78.3% 26.1% 8.7% 8.7% 0.0%
6-4 6
a.
36 10 23 10 4 2 0
100.0% 27.8% 63.9% 27.8% 11.1% 5.6% 0.0%
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w

Ol 0| 0| >

O |0 |0

=2 (C) =+

(A+ Z2(B)+ Z(C)+ (D)) x 100 (%)

=@ (B)+2(D)) =(A+Z2(B)+2(C)+ 2 (D)) x 100 (%)

=A+ (A+Z(B)+XZ(C)+ zZ (D)) x 100 (%)
8-1. 3 4
1 6
3 4
2,170 201 57 2,431
64 15 11 90
44 14 21 82
2,280 230 89 2,603
4.7%
10.6%
83.4%
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8-2. 1 6
3
1 6
1,368 107 18 5 1,498
125 27 11 3 166
34 20 16 7 77
2 0 0 0 2
1,529 154 45 15 1,743
10.3%
8.6%
78.7%
9.
3 4 1 6
* *
A 718 46% | 10.3% | 83.8% 545 12.8% 11.6% | 71.9%
B 941 2.2% 6.5% | 90.6% 512 4.1% 21% | 93.2%
C 491 10.6% | 21.2% | 64.4% 347 12.7% | 17.0% | 66.3%
D 252 2.8% 6.0% | 91.3% 185 11.9% 59% | 79.5%
E 192 4.7% 9.9% | 84.4% 140 | 14.3% 29% | 82.1%
2,603 4.7% | 10.6% | 83.4% 1,739 10.3% 8.6% | 78.7%
10 F A E 6




